PURCHASE ORDER DEPARTMENT OF SOCIAL WELFARE AND DEVELOPMENT Regional Office III, City of San Fernando, Pampanga

Supplier: HALEX GOLDEN CORPORATION

Address: Angeles City

TIN

Gentlemen/Ladies:

P.O. No.: 2021-07-139

Date: July 27, 2021

Mode of Procurement: NP-SVP

Please furnish this Office the following articles listed below in accordance with your quotation subject to the terms and conditions contained herein and on those listed in the RFQ Form:

nerein and on those listed in the RFQ Form:					
Place of Delivery: DSWD TARLAC HOME FOR WOMEN, Tarlac Provincial Hospital Compound, Brgy. San Vicente, Tarlac City Delivery Term: See schedule below					
	Date of Delivery: Base on terms vs. conforme date/NTP Payment Term: Cash on Delivery				
tems N		Description	Quantity	Unit Cost	
	LOT	WET MARKET GOODS (Fresh Meats/Fish/Eggs)	Quantity 1	Unit Cost	Amount
		Period of Requirement: Month of AUGUST (1-30) CY 2021 Delivery Location: DSWD TARLAC HOME FOR WOMEN, Tarlac	•		
		Provincial Hospital Compound, Brgy. San Vicente, Tarla Delivery Frequency: Twice a week (every Monday and Wednesday) prior the actual week of need (see breakdown below)	e City		
8		PE, EFFECTE SELECTION OF A CENTER OF		5	,
1	PACK	PORK, LAMAN PART, Fresh, one (1) kilo per pack > Must be free from unpleasant smell > Meat must be reddish/pinkish in color and not green/gray	36	390.00	14,040.00
2	PACK	PORK, GROUND, 15-30% Fat, Fresh, Unseasoned, one (1) kilo per pack	17	390.00	6,630.00
		> Must be from the Shoulder Part of the Pig > Must be free from unpleasant smell			7
		> Meat must be reddish/pinkish in color and not green/gray			
3	PACK	PORK PATA, FRESH, one (1) kilo per pack	5	200.00	1.000.00
		> Must be free from unpleasant smell	3	380.00	1,900.00
		> Meat must be reddish/pinkish in color and not green/gray			
4	PACK	PORK LIVER, FRESH , one (1) kilo per pack > Must be free from unpleasant smell	3	390.00	1,170.00
5	PACK	PORK RIBS, FRESH, one (1) kilo per pack	5	390.00	1,950.00
		> Must be free from unpleasant smell > Meat must be reddish/pinkish in color and not green/gray			
6	PACK	BEEF OXTAIL, FRESH, one (1) kilo per pack > Must be free from unpleasant smell	5	320.00	1,600.00
		> Meat must be reddish/pinkish in color and not green/gray	a		
7	PACK	BEEF OX TRIPE, FRESH , one (1) kilo per pack > Must be free from unpleasant smell	2	320.00	640.00
8	PACK	BEEF GROUND, FRESH, one (1) kilo per pack > Must be free from unpleasant smell	7	330.00	2,310.00
9	PACKS	CHICKEN BREAST, one (1) kilo per pack	,	400.00	,
		> Must be free from unpleasant smell	7	200.00	1,400.00
		Meat must be plump and pinkish in color and not green/grayTear and Bruise-free			
10	PACK	CHICKEN LIVER, FRESH, one (1) kilo per pack > Must be free from unpleasant smell	1	200.00	200.00
					· ·

Page 1 of 4

	Thank	DENDLAND		× 11	
1,1	PACK	, and (2) mile per puck	5	350.00	1,750.00
		> Must be free from unpleasant smell		1	/
		> Meat must be plump and pinkish in color and not green/gray			
12	DACK	CHICKEN CROWNS II			
12	FACK	CHICKEN GROUND, Unseasoned, Fresh, one (1) kilo per pack	5	200.00	1,000.00
		> Must be free from unpleasant smell		Ĭ.	1
		> Must be plump and pinkish in color and not green/gray			
		CHICKEN DRESSED (WHOLE), Unseasoned, Fresh, one (1) kilo per	ł		
13	PACK	pack	25	200.00	5,000.00
9		> Must be free from unpleasant smell			2,000.00
		> Must be plump and pinkish in color and not green/gray			
		> Tear and Bruise-free			
14	TRAY	EGG, CHICKEN, White, Age 2-5 days old, Expiration: Two (2) weeks		407.00	
		upon delivery	16	185.00	2,960.00
		> White, no broken shell			
		> Age: 2-5 days old			
		> Size: Medium, 45-50 grams, 30 pieces per tray			
		KALASO ERESH Preferably alive when delineared and (1) 12			
15	KILOS	KALASO, FRESH, Preferably alive when delivered, one (1) kilo per pack	5	195.00	975.00
		> Must be cleaned already, Bright red gills, clear eyes			
		> Must be free from unpleasant smell			
16	KILOS	SHRIMP, FRESH, one (1) kilo per pack	12	495.00	5,940.00
		> Must be free from unpleasant smell		155.00	3,240.00
		> Size: Medium			
1.77	LII OC			2	
17	KILOS	TUNA FISH, FRESH, one (1) kilo per pack	10	330.00	3,300.00
		> Must be free from unpleasant smell			
		> Size: Medium, Clear Eyes > Must be cleaned already			1
		With the cleaned already			
18	KILOS	FISH GALUNGGONG, LALAKI, FRESH, one (1) kilo per pack	27	105.00	
		> Must be free from unpleasant smell	27	195.00	5,265,00
		> Size: Medium, Clear Eyes and Must be Cleaned Already			*
10	WIL OC	8"			
19	KILOS	FISH, BANGUS/MILKFISH, FRESH, one (1) kilo per pack	26	195.00	5,070.00
		> Must be Cleaned Already, Bright Red Gills, Clear Eyes			
		> Must be free from unpleasant smell > Size: Medium		1	
		> Size. Medium			
20	KILOS	DALAGANG BUKID, FRESH, one (1) kilo per pack	_		
		> Must be free from unpleasant smell	5	195.00	975.00
l		> Size: Medium, clear eyes and must be cleaned already			
	*				
21	KILOS	FISH BISUGO, FRESH, one (1) kilo per pack	5	195.00	975.00
	-	> Must be free from unpleasant smell		220,00	273.00
,		> Size: Medium, clear eyes and must be cleaned already			2
ĺ					
		TWEEK A ANGLES OF SERVE			
	*	I. WEEK 1 - AUGUST 1-4, 2021 (Delivery Due Date on JULY 30, 2021)			
1		> 5 packs PORK RIBS			
		> 5 packs DRESSED CHICKEN > 4 packs PORK LAMAN			
		> 1 pack PORK LIVER			
8		> 1 pack FORK LIVER > 2 kilos SHRIMP/HIPON			
2		> 2 kilos STIKIME/HIPON > 8 kilos FISH, BANGUS		2	
2		> 5 kilos GALUNGGONG, LALAKI	,		
1		> 1 tray EGG	1		
ŀ		, 200			
		II. WEEK II - AUGUST 5-11, 2021			
***************************************	I.	A V AAY MUMIT			

4				
- 1	AUGUST 5-9, 2021 (Delivery Due Date on AUGUST 4, 2021)	-		
	> 6 packs GROUND PORK			
	> 8 packs PORK LAMAN			
	> 5 packs DRESSED CHICKEN			
	> 3 packs CHICKEN BREAST			B
	> 4 kilos GALUNGGONG, LALAKI			
	> 2 kilos SHRIMP/HIPON	2.1		
	> 4 kilos FISH, BANGUS			
	> 4 trays EGG			-13
	AUGUST 10-11, 2021 (Delivery Due Date on AUGUST 9, 2021)			
	> 2 packs GROUND BEEF			
	> 1 pack CHICKEN BREAST			
	> 4 kilos GALUNGGONG, LALAKI			
	> 1 kilo SHRIMP/HIPON	=		
	> 4 kilos FISH, BANGUS			e s
	> 5 kilos DALAGANG BUKID		n	9
	> 3 KIIOS DALAGANG BUKID			
	HI WEEK 2 AUGUST 42 42 2224			
	III. WEEK 3 - AUGUST 12-18, 2021			14
	AUGUST 12-16 2021 (Delivery Due Date on AUGUST 11, 2021)	- V	7	A 9
	> 10 packs PORK LAMAN			
	> 2 packs GROUND PORK			
	> 4 packs GROUND BEEF		1	
	> 1 pack GROUND CHICKEN	İ		
	> 5 kilos FISH, BANGUS			
	> 5 kilos TUNA FISH			
	> 2 kilos SHRIMP/HIPON	1		
	> 3 trays EGG			
	7 S tiays EGG			
	AUCUST 17 18 2021 (Dollyony Due Date on AUCUST 16 2021)			
	AUGUST 17-18 2021 (Delivery Due Date on AUGUST 16, 2021)	,-		
	> 1 pack GROUND BEEF	İ		8 6
	> 1 pack CHICKEN LIVER			
	> 5 packs DRESSED CHICKEN			
	> 1 kilo SHRIMP/HIPON			
	> 5 kilos GALUNGGONG, LALAKI			
	IV. WEEK 4 - AUGUST 19-25, 2021			
	AUGUST 19-23 2021 (Delivery Due Date on AUGUST 18, 2021)	8		
	> 2 packs GROUND CHICKEN			
	> 5 packs DRESSED CHICKEN			
	> 5 packs GROUND PORK			
	> 5 packs BEEF OXTAIL	ĺ		
	> 2 packs BEEF OX TRIFE	l		
	> 5 packs PORK LAMAN	ı		
	> 1 pack CHICKEN BREAST			
1	> 5 packs PORK PATA			
	> 1 pack PORK LIVER		İ	
	> 5 kilos FISH BISUGO	1		
	> 4 kilos SHRIMP/HIPON			
	> 4 trays EGG		*	
	AUGUST 24-25 2021 (Delivery Due Date on AUGUST 23, 2021)		-	
	> 5 packs DRESSED CHICKEN		1	
	> 2 packs GROUND PORK	l		
	> 2 packs PORK LAMAN		Ī	
	> 5 kilos KALASO	I	I	
	I MIOS IN IEMOO		1	
	V. WEEL & AUGUST ACC.	ĺ		
	V. WEEK 5 - AUGUST 26-31, 2021 (Delivery Due Date on AUGUST 25, 2	2021)	i	
	> 2 packs CHICKEN BREAST			
	> 7 packs PORK LAMAN	- 1		
	> 1 pack PORK LIVER	į		
	> 2 packs GROUND CHICKEN			
	> 5 packs BEEF LAMAN	İ		
]	> 2 packs GROUND PORK			
	Page 3 of 4			

4.	> 5 kilos BANGUS	
	> 5 kilos TUNA FISH	
2	> 9 kilos GALUNGGONG, LALAKI	
	> 4 trays EGG	
	BETTER PROBLEMS A SEPTEMBER REPORT	
	> All prices are quoted herein are valid, binding and effective for One (1 month -AU	GUST 2021)
	> Prices quoted shall be inclusive of all costs including transportation, freight and har	ndling.
	and another incidental expenses maybe incurred to the indicated delivery site]]
	> Suppliers/Service Providers must have 10% of the quantity of each of the items	
	stated in this request which will serve as "buffer items" in case of spoiled/rejected del	iveries
	> The Bidder is preferably a Local Supplier for in any case of complaints, the Local S	Supplier can immediately respond.
	However, in the absence of a qualified Local Suppliers a Provincial or Regional Prov	iders shall qualify
	> Provision for packaging of the items is required to prevent their damage or deterior	ration during transit to
	their final destination, as indicated in this contract. The packaging shall be sufficient t	o withstand, without limitation
	rough handling during transit and exposure to extreme temperatures	
	> Ensure no disruption of deliveries	
	> The DSWD accepts no liability for the damage of items during transit, in the case if	fitems supplied
	from within the Philippines or supplied by domestic supplier risk and title will not be	deemed to have
	passed to the DSWD until their receipt and final acceptance at the final destination	1
* '	D. PANTERTE TEMNIS, 4 ask on telegra-	
· · ·		
	1	
	Wet Market Goods re:	
		1 1
Total Amount in Wor	Sixty Five Thousand and Fifty Pesos Only.	Grand Total 65,050,00
The DSWD I	Region III reserves the right to accept or reject any part of the items/services delivered which	h are not in accordance with the set
pecifications. In	case of fadure to make the full delivery within the time specified above, a penalty of one-ter	nth (1/10) of one percent for every day of delay
nan be imposed o	on the undelivered item/s.	
Conforme:	Very truly yours,	1
	(11/1/	1 New Ada
	model / Gara MARINES M.	MARISTELA, CESO III
	over Printed Name of Supplier Signature	of Authorized Official 4
***************************************		gional Director
	D-4-	Designation
3 107		the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the s
rund Cluster:	01	ORS/BURS No.: 21-8-6171
unds Available		1
	Juny 7/28 kozy	Date of the ORS/BURS: 7 28
	ANGELICA T. LAFUENTE	Amount: 65, 050.00
	Signature of Chief Accountant/Head of Accounting Division/Unit	
	Page 4 of 4	